

# ( $\mathfrak{R}$ , $p$ , $\alpha$ ) METHODS OF SUMMABILITY

HIROSHI HIROKAWA<sup>1)</sup>

(Received July 30, 1964)

1. G. Sunouchi [3] has recently introduced some new methods of summability which are regular. These are defined in the following way. A series  $\sum_{n=0}^{\infty} a_n$  is said to be summable ( $\mathfrak{R}$ ,  $\alpha$ ) to  $s$  if the series in

$$f_1(t) = a_0 + \left( \int_0^{\infty} \frac{\sin x}{x^{\alpha+1}} dx \right)^{-1} \sum_{n=1}^{\infty} a_n \int_t^{\infty} \frac{\sin nu}{n^{\alpha} u^{\alpha+1}} du, \quad 0 < \alpha < 1,$$

converges in some interval  $0 < t < t_0$  and  $f_1(t) \rightarrow s$  as  $t \rightarrow 0+$ . A series  $\sum_{n=0}^{\infty} a_n$  is said to be summable ( $\mathfrak{R}^*$ ,  $\alpha$ ) to  $s$  if the series in

$$f_2(t) = a_0 + \left( \int_0^{\infty} \frac{\sin^2 x}{x^{\alpha+1}} dx \right)^{-1} \sum_{n=1}^{\infty} a_n \int_t^{\infty} \frac{\sin^2 nu}{n^{\alpha} u^{\alpha+1}} du, \quad 0 < \alpha < 1,$$

converges in some interval  $0 < t < t_0$  and  $f_2(t) \rightarrow s$  as  $t \rightarrow 0+$ .

It is purpose of this paper to obtain information about these Sunouchi's methods of summability and generalization of them. Throughout this paper,  $p$  denotes a positive integer and  $\alpha$  denotes a real number, not necessarily an integer, such that  $0 < \alpha < p$ . Let us put

$$C_{p,\alpha} = \int_0^{\infty} \frac{\sin^p x}{x^{\alpha+1}} dx,$$

$$\varphi(n, t) \equiv \varphi(nt) \equiv (C_{p,\alpha})^{-1} \int_{nt}^{\infty} \frac{\sin^p x}{x^{\alpha+1}} dx = (C_{p,\alpha})^{-1} \int_t^{\infty} \frac{\sin^p nu}{n^{\alpha} u^{\alpha+1}} du.$$

Then a series  $\sum_{n=0}^{\infty} a_n$  will be said to be summable ( $\mathfrak{R}$ ,  $p$ ,  $\alpha$ ) to  $s$  if the series in

$$f(p, \alpha, t) = a_0 + \sum_{n=1}^{\infty} a_n \varphi(nt)$$

converges in some interval  $0 < t < t_0$  and  $f(p, \alpha, t) \rightarrow s$  as  $t \rightarrow 0+$ . Under this definition, the ( $\mathfrak{R}$ ,  $\alpha$ ) method and the ( $\mathfrak{R}^*$ ,  $\alpha$ ) method are reduced to the

---

1) The author thanks to Professors G. Sunouchi and S. Yano for their valuable suggestions.

$(\mathfrak{R}, 1, \alpha)$  method and the  $(\mathfrak{R}, 2, \alpha)$  method, respectively. On the other hand, for a series  $\sum_{n=0}^{\infty} a_n$ , let us write  $\sigma_n^\beta = s_n^\beta / A_n^\beta$ , where  $s_n^\beta$  and  $A_n^\beta$  are defined by the relations

$$\sum_{n=0}^{\infty} A_n^\beta x^n = (1-x)^{-\beta-1} \quad \text{and} \quad \sum_{n=0}^{\infty} s_n^\beta x^n = (1-x)^{-\beta-1} \sum_{n=0}^{\infty} a_n x^n.$$

Then, if  $\sigma_n^\beta \rightarrow s$  as  $n \rightarrow \infty$ , we say that the series  $\sum_{n=0}^{\infty} a_n$  is summable  $(C, \beta)$  to  $s$ .

(See, for example, [4].) If  $\sigma_n^\beta \rightarrow s$  as  $n \rightarrow \infty$  and  $\sum_{n=0}^{\infty} |\sigma_n^\beta - \sigma_{n+1}^\beta| < +\infty$ , the

series  $\sum_{n=0}^{\infty} a_n$  is said to be summable  $|C, \beta|$  to  $s$ . It is well-known that, if the

series  $\sum_{n=0}^{\infty} a_n$  is summable  $(C, \beta)$  to 0, then  $s_n^\gamma = o(n^\beta)$ ,  $0 \leq \gamma \leq \beta$ . Our main results in this paper are the following theorems.

**THEOREM 1.** *Let  $0 < \beta < \alpha < p$ . Then, if a series  $\sum_{n=0}^{\infty} a_n$  is summable  $(C, \beta)$  to  $s$ , the series  $\sum_{n=0}^{\infty} a_n$  is summable  $(\mathfrak{R}, p, \alpha)$  to  $s$ .*

**THEOREM 2.** *Let  $0 < \alpha < p$  and let  $\lambda_n > 0$  ( $n = 1, 2, \dots$ ) and the series  $\sum_{n=1}^{\infty} \frac{\lambda_n}{n}$  converge. Then, if*

$$s_n^\alpha - s A_n^\alpha = o(n^\alpha \lambda_n),$$

*the series  $\sum_{n=0}^{\infty} a_n$  is summable  $(\mathfrak{R}, p, \alpha)$  to  $s$ .*

**THEOREM 3.** *Let  $0 < \alpha < p$ . Then, if a series  $\sum_{n=0}^{\infty} a_n$  is summable  $|C, \alpha|$  to  $s$ , the series  $\sum_{n=0}^{\infty} a_n$  is summable  $(\mathfrak{R}, p, \alpha)$  to  $s$ .*

## 2. Some Lemmas.

**LEMMA 1.** *Let  $0 < \alpha < p$  and let  $\Delta^m \varphi(n, t)$  denote the  $m$ -th difference of  $\varphi(n, t)$  with respect to  $n$ . Then*

$$(2.1) \quad \Delta^m \varphi(n, t) = O(n^{-\alpha-1} t^{m-\alpha-1})$$

when  $m$  is a positive integer such that  $m \leq p+1$ , and

$$(2.2) \quad \Delta^\mu \varphi(n, t) = O(n^{-\alpha} t^{\mu-\alpha})$$

when  $\mu$  is a positive integer such that  $\mu \leq p$ .

PROOF. By an extension of the mean value theorem in the differential calculus [1; p. 178], we have

$$(2.3) \quad \Delta^m \varphi(n, t) = (-1)^m (C_{p,\alpha})^{-1} t^m \left[ \frac{d^m}{dx^m} \int_x^\infty \frac{\sin^p u}{u^{\alpha+1}} du \right]_{x=\theta},$$

where  $\theta$  is some point such that  $nt < \theta < (n+m)t$ . Hence, for the proof of (2.1), it is sufficient to prove that

$$\left[ \frac{d^m}{dx^m} \varphi(x) \right]_{x=\theta} = O((nt)^{-\alpha-1}),$$

or

$$(2.4) \quad \frac{d^m}{dx^m} \varphi(x) = O(x^{-\alpha-1}).$$

Now we have to show that, for  $m \leq p+1$ ,

$$\frac{d^m}{dx^m} \varphi(x) = - \frac{d^{m-1}}{dx^{m-1}} \left( \frac{\sin^p x}{x^{\alpha+1}} \right) = O(x^{-\alpha-1}).$$

An elementary calculation shows that, for  $k \leq p$ ,

$$\frac{d^k}{dx^k} \sin^p x = \eta_k(x) \sum_{\nu=0}^k \frac{1 + (-1)^{k+\nu}}{2} \gamma_{k,\nu} \sin^{p-\nu} x,$$

where  $\gamma_{k,\nu}$  are constants depending only on  $k$  and  $\nu$ , and

$$\eta_k(x) = 1 \quad (k; \text{ even}), = \cos x \quad (k; \text{ odd}).$$

On the other hand

$$\frac{d^k}{dx^k} x^{-\alpha-1} = (-1)^k (\alpha+1)(\alpha+2) \cdots (\alpha+k) x^{-\alpha-k-1} \equiv \delta_k x^{-\alpha-k-1}, \text{ say.}$$

Then, by Leibnitz formula,

$$\frac{d^{m-1}}{dx^{m-1}} \left( \frac{\sin^p x}{x^{\alpha+1}} \right) = \sum_{k=0}^{m-1} \binom{m-1}{k} \delta_{m-k-1} \eta_k(x) \sum_{\nu=0}^k \frac{1+(-1)^{k+\nu}}{2} \gamma_{k,\nu} x^{k-m-\alpha} \sin^{p-\nu} x.$$

Since  $0 \leq \nu \leq k \leq m-1 \leq p$ , we get

$$(2.5) \quad \begin{aligned} x^{k-(m-1)} \sin^{p-\nu} x &= O(x^{k-(m-1)} \sin^{p-k} x) \\ &= \begin{cases} O\left(\frac{\sin^p x}{x^{m-1}} \left(\frac{x}{\sin x}\right)^k\right) = O(1) & (0 < x < 1), \\ O(x^{k-(m-1)}) = O(1) & (x \geq 1). \end{cases} \end{aligned}$$

Then, by  $\eta_k(x) = O(1)$ , we have (2.4). Therefore, by (2.3),

$$\Delta^m \varphi(n, t) = O(t^m \theta^{-\alpha-1}) = O(n^{-\alpha-1} t^{m-\alpha-1}).$$

The proof of (2.2) is similar to that of (2.1). In this case, it is sufficient to prove that, when  $0 \leq \nu \leq k \leq \mu-1 \leq p-1$ ,

$$x^{k-\mu} \sin^{p-\nu} x = O(1).$$

But this is easily proved as in (2.5). Hence we have (2.2).

LEMMA 2. Let  $0 < \gamma \leq \alpha < p$ . Then, for non-integral number  $\gamma$ ,

$$(2.6) \quad G(\gamma, k, t) \equiv \sum_{n=k}^{\infty} A_{n-k}^{-\gamma-1} \Delta \varphi(n, t) = O(k^{-\alpha-1} t^{\gamma-\alpha}),$$

$$(2.7) \quad G(\gamma, k, t) = O(k^{[\gamma]-\gamma-\alpha} t^{[\gamma]-\alpha+1})^2)$$

and

$$(2.8) \quad G(\gamma-1, k, t) = O(k^{[\gamma]-\gamma-\alpha} t^{[\gamma]-\alpha}).$$

PROOF. We shall first prove (2.6). Let  $\rho = [1/t]$  and write

$$G(\gamma, k, t) = \left( \sum_{n=k}^{k+\rho-1} + \sum_{n=k+\rho}^{\infty} \right) = g_1(k, t) + g_2(k, t),$$

say. Then, using (2.1) for  $m=1$ ,

$$g_2(k, t) = O\left( \sum_{n=k+\rho}^{\infty} (n-k)^{-\gamma-1} \cdot n^{-\alpha-1} t^{-\alpha} \right)$$

---

2) Throughout this paper,  $[x]$  denotes the greatest integer less than  $x$ .

$$\begin{aligned}
&= O\left(k^{-\alpha-1} t^{-\alpha} \sum_{n=k+\rho}^{\infty} (n-k)^{-\gamma-1}\right) \\
&= O(k^{-\alpha-1} t^{\gamma-\alpha}).
\end{aligned}$$

By the repeated use of Abel transformation

$$\begin{aligned}
g_1(k, t) &= \sum_{n=0}^{\rho-1} A_n^{-\gamma-1} \Delta \varphi(n+k, t) \\
&= \sum_{n=0}^{\rho-[\gamma]-2} A_n^{[\gamma]-\gamma} \Delta^{[\gamma]+2} \varphi(n+k, t) + \sum_{i=1}^{[\gamma]+1} A_{\rho-i}^{-\gamma+i-1} \Delta^i \varphi(k+\rho-i, t).
\end{aligned}$$

Since  $\rho$  is an integer, we have  $[\gamma] + 2 \leq \rho + 1$ , and then, by (2.1),

$$\begin{aligned}
g_1(k, t) &= O\left(\sum_{n=0}^{\rho} (n+1)^{[\gamma]-\gamma} (n+k)^{-\alpha-1} t^{[\gamma]-\alpha+1}\right) \\
&\quad + O\left(\sum_{i=1}^{[\gamma]+1} (\rho-i)^{-\gamma+i-1} (k+\rho-i)^{-\alpha-1} t^{i-\alpha-1}\right) \\
&= O\left(k^{-\alpha-1} t^{[\gamma]-\alpha+1} \sum_{n=0}^{\rho} (n+1)^{[\gamma]-\gamma}\right) + O(k^{-\alpha-1} t^{\gamma-\alpha}) \\
&= O(k^{-\alpha-1} t^{\gamma-\alpha}).
\end{aligned}$$

Thus we have (2.6). Next we shall prove (2.7). By the repeated use of Abel transformation, we have, by (2.1),

$$\begin{aligned}
G(\gamma, k, t) &= \sum_{n=0}^{\infty} A_n^{-\gamma-1} \Delta \varphi(n+k, t) \\
&= \sum_{n=0}^{\infty} A_n^{[\gamma]-\gamma} \Delta^{[\gamma]+2} \varphi(n+k, t) \\
&= O\left(\sum_{n=0}^k (n+1)^{[\gamma]-\gamma} (n+k)^{-\alpha-1} t^{[\gamma]-\alpha+1}\right) \\
&\quad + O\left(\sum_{n=k+1}^{\infty} n^{[\gamma]-\gamma} (n+k)^{-\alpha-1} t^{[\gamma]-\alpha+1}\right) \\
&= O\left(k^{-\alpha-1} t^{[\gamma]-\alpha+1} \sum_{n=0}^k (n+1)^{[\gamma]-\gamma}\right)
\end{aligned}$$

$$+ O\left(k^{[\gamma]-\gamma} t^{[\gamma]-\alpha+1} \sum_{n=k}^{\infty} (n+k)^{-\alpha-1}\right) \\ = O(k^{[\gamma]-\gamma-\alpha} t^{[\gamma]-\alpha+1}),$$

which is the required result (2.7). Similarly we have

$$G(\gamma-1, k, t) = \sum_{n=0}^{\infty} A_n^{-\gamma} \Delta\varphi(n+k, t) \\ = \sum_{n=0}^{\infty} A_n^{[\gamma]-\gamma} \Delta^{[\gamma]+1} \varphi(n+k, t) \\ = O(k^{[\gamma]-\gamma-\alpha} t^{[\gamma]-\alpha}),$$

which is the required result (2.8).

**3. PROOF OF THEOREM 1.** We shall prove theorem when  $\beta$  is non-integral, the case of integral  $\beta$  being easily proved by the method analogous to the following argument. For the proof, we may assume, without loss of generality, that  $a_0 = 0$ ,  $s = 0$  and  $\alpha-1 < \beta$ . Since

$$\varphi(n, t) = (C_{p,\alpha})^{-1} \int_{nt}^{\infty} \frac{\sin^p u}{u^{\alpha+1}} du = O(n^{-\alpha} t^{-\alpha}),$$

we have by Abel transformation and using  $s_n^0 = o(n^\alpha)$ ,

$$f(p, \alpha, t) = \sum_{n=1}^{\infty} a_n \varphi(n, t) = \sum_{n=1}^{\infty} s_n^0 \Delta\varphi(n, t).$$

Therefore, for the proof, it is sufficient to prove that the series

$$(3.1) \quad \sum_{n=1}^{\infty} s_n^0 \Delta\varphi(n, t)$$

converges in some interval  $0 < t < t_0$  and its sum tends to 0 as  $t \rightarrow 0+$ . By a well-known formula

$$s_n^0 = \sum_{k=0}^n A_{n-k}^{-\beta-1} s_k^\beta, \\ \sum_{n=1}^{\infty} s_n^0 \Delta\varphi(n, t) = \sum_{k=1}^{\infty} s_k^\beta \sum_{n=k}^{\infty} A_{n-k}^{-\beta-1} \Delta\varphi(n, t) = \sum_{k=1}^{\infty} s_k^\beta G(\beta, k, t),$$

where

$$G(\beta, k, t) = \sum_{n=k}^{\infty} A_{n-k}^{-\beta-1} \Delta \varphi(n, t).$$

Here we must prove that this rearrangement is permissible. For this purpose, it is sufficient to show that, for a fixed  $t > 0$ ,

$$I_N \equiv \sum_{k=1}^N s_k^{\beta} \sum_{n=N+1}^{\infty} A_{n-k}^{-\beta-1} \Delta \varphi(n, t) \rightarrow 0 \quad \text{as } N \rightarrow \infty.$$

But this is easily proved as following. By (2.1) and  $s_n^{\beta} = o(n^{\beta})$ ,

$$\begin{aligned} I_N &= O \left( \sum_{k=1}^N |s_k^{\beta}| \sum_{n=N+1}^{\infty} (n-k)^{-\beta-1} \cdot n^{-\alpha-1} \right) \\ &= O \left( N^{-\alpha-1} \sum_{k=1}^N |s_k^{\beta}| \right) = o(N^{-\alpha-1} N^{\beta+1}) = o(1). \end{aligned}$$

Let us now write

$$\sum_{k=1}^{\infty} s_k^{\beta} G(\beta, k, t) = \left( \sum_{k=1}^{\rho-1} + \sum_{k=\rho}^{\infty} \right) = U(t) + V(t),$$

where  $\rho = [1/t]$ ,  $0 < t < 1/2$ . Then using (2.6) and  $s_n^{\beta} = o(n^{\beta})$

$$V(t) = \sum_{k=\rho}^{\infty} s_k^{\beta} G(\beta, k, t) = o \left( \sum_{k=\rho}^{\infty} k^{\beta} \cdot k^{-\alpha-1} t^{\beta-\alpha} \right) = o(\rho^{\beta-\alpha} t^{\beta-\alpha}) = o(1),$$

when  $t \rightarrow 0+$ . Now, since  $\beta - \alpha < 0$ , the series (3.1) converges for every  $t > 0$ . On the other hand, using Abel transformation, we get, when  $t \rightarrow 0+$ ,

$$\begin{aligned} U(t) &= \sum_{k=1}^{\rho-2} s_k^{\beta+1} (G(\beta, k, t) - G(\beta, k+1, t)) + s_{\rho-1}^{\beta+1} G(\beta, \rho-1, t) \\ &= o \left( \sum_{k=1}^{\rho} k^{\beta+1} \cdot k^{-\alpha-1} \cdot t^{\beta-\alpha+1} \right)^{3)} + o(\rho^{\beta+1} \cdot \rho^{-\alpha-1} \cdot t^{\beta-\alpha}) \\ &= o(\rho^{\beta-\alpha+1} t^{\beta-\alpha+1}) + o(\rho^{\beta-\alpha} t^{\beta-\alpha}) = o(1), \end{aligned}$$

in virtue of our assumption  $\alpha-1 < \beta$ . Hence the sum of the series (3.1) tends to 0 when  $t \rightarrow 0+$ . Thus the theorem 1 is completely proved.

REMARK. In the proof of the theorem 1 when  $\beta = p-1$ , for the sake of estimating the sum  $\sum_{n=1}^{\rho} s_n^{p-1} \Delta^p \varphi(n, t)$ , we use the inequality (2.2).

---

3)  $G(\beta, k, t) - G(\beta, k+1, t) = O(k^{-\alpha-1} t^{\beta-\alpha+1})$  is proved by the method analogous to that of (2.6).

4. PROOF OF THEOREM 2. We shall prove the theorem in which  $\alpha$  is non-integral, the theorem in which  $\alpha$  is an integer being easily proved by the method analogous to the following argument. For the proof, we may assume, without loss of generality, that  $\alpha_0 = 0$  and  $s = 0$ . Then, as in the proof of the theorem 1, we have

$$\sum_{n=1}^{\infty} a_n \varphi(n, t) = \sum_{k=1}^{\infty} s_k^{\alpha} G(\alpha, k, t),$$

where

$$G(\alpha, k, t) = \sum_{n=k}^{\infty} A_{n-k}^{-\alpha-1} \Delta \varphi(n, t).$$

Let us now write

$$\sum_{k=1}^{\infty} s_k^{\alpha} G(\alpha, k, t) = \left( \sum_{k=1}^{N-1} + \sum_{k=N}^{\infty} \right) = U(t) + V(t),$$

say, where  $N$  is an arbitrary fixed positive integer. By (2.6) with  $\gamma = \alpha$ ,

$$V(t) = O \left( \sum_{k=N}^{\infty} k^{\alpha} \cdot \lambda_k \cdot k^{-\alpha-1} \right) = O \left( \sum_{k=N}^{\infty} k^{-1} \lambda_k \right).$$

From this, we see that, by the convergence of the series  $\sum_{k=1}^{\infty} k^{-1} \lambda_k$ , the series

$$\sum_{k=1}^{\infty} s_k^{\alpha} G(\alpha, k, t)$$

converges for every  $t > 0$ . On the other hand we have

$$\begin{aligned} \Delta \varphi(n, t) &= O \left( t \cdot \frac{\sin^p \theta}{\theta^{\alpha+1}} \right), \quad nt < \theta < (n+1)t, \\ (4.1) \quad &= \begin{cases} O(t) & \text{when } \alpha + 1 \leq p, \\ O(t^{p-\alpha}) & \text{when } \alpha + 1 > p. \end{cases} \end{aligned}$$

Hence

$$\begin{aligned} G(\alpha, k, t) &= O \left( \sup_n |\Delta \varphi(n, t)| \cdot \sum_{n=k}^{\infty} |A_{n-k}^{-\alpha-1}| \right) \\ &= \begin{cases} O(t) & \text{when } \alpha + 1 \leq p, \\ O(t^{p-\alpha}) & \text{when } \alpha + 1 > p. \end{cases} \end{aligned}$$

Therefore, since  $N$  is constant,

$$\lim_{t \rightarrow 0+} U(t) = 0.$$

Then we have

$$\limsup_{t \rightarrow 0+} \left| \sum_{k=1}^{\infty} s_k^{\alpha} G(\alpha, k, t) \right| = O \left( \sum_{k=N}^{\infty} k^{-1} \lambda_k \right).$$

Since  $N$  is arbitrary and the series  $\sum_{k=1}^{\infty} k^{-1} \lambda_k$  is convergent, we have

$$\lim_{t \rightarrow 0+} \sum_{k=1}^{\infty} s_k^{\alpha} G(\alpha, k, t) = 0,$$

and theorem is completely proved.

**5. PROOF OF THEOREM 3.** We shall prove the theorem in which  $\alpha$  is non-integral, the theorem in which  $\alpha$  is an integer being easily proved by the method analogous to the following argument. For the proof, we may assume, without loss of generality, that  $a_0=0$  and  $s=0$ . Then, as in the proof of the theorem 1, we have

$$\sum_{n=1}^{\infty} a_n \varphi(n, t) = \sum_{k=1}^{\infty} s_k^{\alpha} G(\alpha, k, t) = \sum_{k=1}^{\infty} (\sigma_k^{\alpha} - \sigma_{k+1}^{\alpha}) U_m(t),$$

where

$$G(\alpha, k, t) = \sum_{n=k}^{\infty} A_{n-k}^{-\alpha-1} \Delta \varphi(n, t) \quad \text{and} \quad U_m(t) = \sum_{k=1}^m A_k^{\alpha} G(\alpha, k, t),$$

provided that

$$(5.1) \quad U_m(t) = O(1) \quad \text{for} \quad 0 < t < 1 \quad \text{and} \quad m = 1, 2, \dots$$

We shall now prove (5.1). If  $mt \leq 1$ , then, by (2.7),

$$\begin{aligned} U_m(t) &= O \left( \sum_{k=1}^m k^{\alpha} \cdot k^{[\alpha]-2\alpha} t^{[\alpha]-\alpha+1} \right) \\ &= O(m^{[\alpha]-\alpha+1} t^{[\alpha]-\alpha+1}) = O(1). \end{aligned}$$

On the other hand, if  $mt > 1$ , then, putting  $\rho = [1/t]$ ,  $0 < t < 1/2$ , we have, by the modified Abel transformation ([2; Lemma 3]) and (2.8),

$$\begin{aligned}
 U_m(t) &= \left( \sum_{k=1}^{p-1} + \sum_{k=p}^m \right) \\
 &= O(1) + A_p^\alpha G(\alpha-1, p, t) - A_m^\alpha G(\alpha-1, m+1, t) + \sum_{k=p}^{m-1} A_{k+1}^{\alpha-1} G(\alpha-1, k+1, t) \\
 &= O(1) + O(\rho^\alpha \cdot \rho^{[\alpha]-2\alpha} t^{[\alpha]-\alpha}) + O(m^\alpha \cdot m^{[\alpha]-2\alpha} t^{[\alpha]-\alpha}) + O\left(\sum_{k=p}^{\infty} k^{\alpha-1} \cdot k^{[\alpha]-2\alpha} t^{[\alpha]-\alpha}\right) \\
 &= O(1) + O((\rho t)^{[\alpha]-\alpha}) + O((mt)^{[\alpha]-\alpha}) + O((\rho t)^{[\alpha]-\alpha}) = O(1).
 \end{aligned}$$

Thus  $U_m(t)$  is bounded uniformly in  $0 < t < 1$  and for all positive integers  $m$ . Since the series  $\sum_{k=1}^{\infty} |\sigma_k^\alpha - \sigma_{k+1}^\alpha|$  is convergent by our assumption, for an arbitrary small  $\varepsilon > 0$ , there exists an integer  $N = N(\varepsilon)$  such that

$$\left| \sum_{k=N^p}^{\infty} (\sigma_k^\alpha - \sigma_{k+1}^\alpha) U_k(t) \right| = O\left(\sum_{k=N^p}^{\infty} |\sigma_k^\alpha - \sigma_{k+1}^\alpha|\right) < \varepsilon.$$

Further, using (4.1), we have, for a fixed  $N$ ,

$$\lim_{t \rightarrow 0+} \sum_{k=1}^{N-1} (\sigma_k^\alpha - \sigma_{k+1}^\alpha) U_k(t) = 0.$$

Then we have

$$\limsup_{t \rightarrow 0+} \left| \sum_{k=1}^{\infty} (\sigma_k^\alpha - \sigma_{k+1}^\alpha) U_k(t) \right| \leq \varepsilon.$$

Since  $\varepsilon$  is arbitrary, we have

$$\lim_{t \rightarrow 0+} \sum_{k=1}^{\infty} (\sigma_k^\alpha - \sigma_{k+1}^\alpha) U_k(t) = 0,$$

and the theorem is proved.

## REFERENCES

- [1] M. FUJIWARA, Mathematical Analysis, (in Japanese), Vol. 1, 3rd. ed. Tokyo, 1946.
- [2] H. HIROKAWA, Riemann-Cesàro methods of summability III, Tôhoku Math. Journ. 11 (1959), 130-146.
- [3] G. SUNOUCHI, Characterization of certain classes of functions, Tôhoku Math. Journ. 14 (1962), 127-134.
- [4] A. ZYGMUND, Trigonometric Series, Vol. 1, Cambridge, 1959.

DEPARTMENT OF MATHEMATICS,  
CHIBA UNIVERSITY, CHIBA, JAPAN.